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Principles of Micro Economics
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Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.
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Section - A / @S-
(Long Answer Type Questions)/( /" IWU a1 Wy )

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners

are required to answer any two (02) questions
only. (2x15=30)

AT : G ‘T W TR (04) € TR e wy fHu T
Wik WoA o foru ue ofen Taeifia & orenfia
T A RAA A AT S ST AT § |

1. What is Indifference curve ? Describe the consumer

equilibrium with the help of Indifference curve.

ST ok fhd hed & 2 ST ok i GeEd
T Had Tl T HifeT |

2. What do you mean by production function ? Explain

the Law of variable proportions.

SIS Herd o 3119 R GHed © 2 URerd-eier S1ura
& 799 &1 =re Fi |

3. Describe the main characteristics of perfect
competition.Also state the Short Run equilibrium

of the firm under periect competition.

o gfeeifir & wHE Ao &1 i SV |
quf GfRfirdr & ST=ITd wH o SeqeRTela o i
ft Tz |
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4.

Explain the keynes' Liquidity preference theory.

G % atadl femE fagia st sare wifsu |
Section - B / @g-&

(Short Answer Type Questions) ( &g 3T ATl U9T)
Note : Section 'B' contains eight (08) short-answer-type

5.

questions of five (05) marks each. Learners are
required to answer any four (04) questions
only. (4%x5=20)

e ‘@' 313 (08) Y IR Ot woe fag i €,

e U9 & fore uter oies Fraifta € 1 franfelat
W T Y had TR U9 & ST A § |

What are the central (Basic) problems of an
economy and why do they arise ?
ST T JHE@ F5[F (AYT) FHEA T ey
IR 78 & S Bl € 2

Define the Price elasticity and cross elasticity of
demand.

i F e @ T e (ST @i R
TSI |

Distinguish between Indifference curve and ISO-
product curve.

ST T3k qe1 FHIE 9 § faug T wifvg)

Describe the characteristics of monopolistic
competition.

TehIeehIIcHeh FfaafiTar st AFaratl i ooi shifsa)

Define cost function. Distinguish between money
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cost and opportunity cost.

AN Hod @l GRWINa hiteld | X @ T

TR A § fadg wifsw |

Explain the marginal productivity theory of
distribution in brief.

foreor & diHra Scaeshar fogid i Halg § W
i |

What is Rent. Describe the Rent theory of Ricardo.
aH g ? ? el % @ fagia @ 9uiH
CAIE LY

What do you mean by Welfare Economics.

FHOATUHRI] ALY § A9 1 99 BT ?
Section - C / @S-¥®

(Objective Type Questions) / ( TS UIT)

Note : Section 'C' contains ten (10) objective-type

e

questions of one (01) mark each. All the questions
of this section are compulsory. (10x1=10)

e U U @ (10) Ty fau T €,
TS U & foe uw ofw fruif@ € 1 3w ws
& |t wg StfEmd ¥ |

A demand curve of a consumer is obtained with
the help of :

(a) Price consumption curve

(b) Income consumption curve

123/16/250 4



(c) Lorentz curve

(d) Engel's curve

el Sustiar 1 | ok W AT ST HeRar @
(31) H9d YN oI ©

(9) 3T IUAN ok 9

(9) a5 9
(%) U o 9
2. A consumer will be in Equilibrium when :

MUx 0 Px MUx 0 Px

@ Tpx Uy ®) MUy - py
MUx _ Px MUx - MU

© i @ 5 05
MUy Py Px Py

Toh UM Aqe i STa€l § R Se—

MUXx 0 Px MUXx 0 Px
(3 “p Hpy (%) Muy " py
MUx _ Px MUx - MUy
(%) 1 () 1
MUy Py Px Py
3. If demand curve is parallel to horizontal axis, then

the demand will be :
(a) More elastic (b) Perfectely inelastic

(c) perfectely elastic (d) Less elastic
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% TH T 9 YR 38T & FHFR & a T
fi—

(31) 9gd 3fus dRR (J) Yuiaar SaeRi
(¥) Yuiaan dA=ER (3) HH ==K

4. In the Long-Run, a monopoly will earn always.
(@) Normal profit (b) Abnormal profit
(¢) Losses (d) Market Profit
it § Tk TR Y G39 W@ A -
(1) 9= A (9) M= ard
CORIE (3) NI o9

5. Production Function represents the relation
between :

(@) Demand and Supply (b) Costs and Profit
(¢) Profitand Losses  (d) Input and output

IS Hod TRy Y i 2—
(31) = wd ufd o () @ U o |
(9) o9 wg gfF ° (3) o wd fofa o

6. The shape of Demand curve for a firms under
perfect competition is :
(a) Vertical (b) Horizontal

(¢) Downward Sloping (d) Upward rising
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T gul Gfqaiht wH 1 AT o H WEY Sl 8-
(31) IR
(F) alfestta
() = &t AR fiRar gen
(T) SW ! AR F&ar g |
7. A firms' equilibrium conditions are :
(a) MR = AR and Positive slope of MC.
(b) MR = Mc and Negative Slope of MC.
(c) MR = AR and Negative slope of MC.

(d) MR = Mc and Positive Slope of MC.
TH B H Hqer H I e
(31) MR =AR @& MC <l ¥qicHS @l |

(1) MR =MC a1 MC <1 BUTcHS @A |

(¥) MR =AR a1 MC <1 REUHS @A |

() MR =MC qa1 MC &I gcH® &l |

8. The concept of 'Quasi Rent' was given by :
(a) Alfred Marshall (b) Ricardo
(¢) Adam Smith (d) Keynes

‘ST oA SRt R feea
(31) IThs HIElA (9) fiemret
(¥) usy fomy (3) I
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9. 'Innovation Theory of Profit is associated with :
(a) David Ricordo (b) Marx

(¢) F. Tansing (d) J.A. Schumpeter
AT & TG YA famia @ wafem E-

(1) 2fae fewret (&) e

(|) TH 2T (%) WG X

10.  Marginal value product (MVP) and Marginal
Revenue Product (MRP) will be same in the
condition of :

(a) Perfect competition

(b) Monopoly

(c) Monopsony

(d) Monopaolistic competition.

= god AR (MVP) qe HiHr=i 31 IcdeA
(MRP) sRTeR gii—

(31) goi it o

(9) TR |
(¥) SR |
(3) Uit gfaaifimar | |
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